E]-—‘%— % O] “]-H]—Zq Alo] 7

pi W)
rlo
O

O xP+2x+1=x%-1 @ x> +3=(x-1)*
@ (x=1)(x+2) =4x @ B -xr+2x=0

® 2x-5=0



©

@ x?+2x-8=0[-2]

@ x? —4x = 3x[1]

@ 2x*-Tx+6=0[2]

® (x+2)? =9x[2]

® 2x2-15x-8 =08



3. ol £ - 20— 15=0 9 2L Fohu?

@ x=5x=-3 @ x=-5x=
® x=15 x=1 @ x=-3, x=-5

® x=-5 x=-3



o
=

o, a, b9 Gt

7+

=
=

OIAFYEA ¥ +ax+b=0°] FLx=-4

4.

i

a3

-

Ul

2



sholat.

_ZF_

o
=

A-B 9| %



2 —12x+3 =0 9] 29] /|45 oozt

dl



7.

oA A 232 + dax —3a—4 =0 &
ki

3
@ —5 ® —

2
-7



X2—4x+2=0




® x2+2x=0
@ 2x2-8x+8=0

® 42 +15x+9=0



A x?—dx+2=09 F 2 Fol FAHA 2x2 -3x—k =0

ol A4

10.

@ 2 ® 3 @ 4 ® 5

D1



11, oJAWAN 32 faxr+b =09 T2l 1,3 Ha+b ol e
Fotofer.

D
=%



12. oJARts 34 —4x-4 = 0 o] 7 2] & F 2] HOl ¥ +ax+b =0
[e)

o) 2w, a+ b O G Fkeler,

D S
=%



9

Q>

gk o] 34+ V6 Q1 OIAPTAA ax? - 2x + b = 0 ©] US o,

R

&7 (o b HAS)

® 1 @ 2 ®3 @4 v



17}

14.

ol
0
T
o

}.H

Aa7E 24 ol

@ 2x24+2x-4=0

@D 2x2-2x+4=0

@ 2x2-x-2=0

@ 2x2-2x-4=0

® 2x24+2x+4=0



@1, -7

@ -7, 2

® 4,9

@ 3, -5

® 14, 1




